Assignment

Name

ID: 1

Date Period

Given the midpoint and one endpoint of a line segment, find the other endpoint.

5 1 3
1) Endpoint: |-2, 1—], midpoint: |-1—, ——
) Encp ( 6) P ( 3 2)
2
3) Endpoint: (O, —31), midpoint: (——, 31)
2 7 3
. ) S 2
5) Endpoint: (2, Z) midpoint: (—1, —35)
7) Endpoint: (z 42), midpoint: (—35, lé)
4 6 6 5
9) Endpoint: (41, —11), midpoint: (—z 31)
3 6 2 3
1 3 5
11) Endpoint: [-1—, ——|, midpoint: {—, -3
) Endp ( 8 2) P (6 )

13) Endpoint: (41, 2), midpoint: (31, 43)
8 8 4

15) Endpoint: (32, 3) midpoint: (—2, 4i)
77 7

2 gegsgs apatih-worhsheet.ory

2) Endpoint: (—2 l) midpoint: (i 22)
32 55
. 1 . 1
4) Endpoint: (E 3), midpoint: (_E 4)
6 1 11
6) Endpoint: |0, —|, midpoint: {1—, ——
) Endp ( 7) P ( 2 8)
8) Endpoint: (31, l) midpoint: (31, —i)
22 4 2
10) Endpoint: (—81, —3) midpoint: (12, 3i)
32 7 5
12) Endpoint: (—32, 42), midpoint: (—21, —11)
8 3 4 3

14) Endpoint: (41, —1), midpoint: (12, 31)
8 6 8

16) Endpoint: (lé, Z) midpoint: (Z —1)
75 8
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1 5 1 3 51
17) Endpoint: |[—, 1|, midpoint: |—, -3— 18) Endpoint: |[-1—, 8|, midpoint; |—, —
) Endp (6 ) P (6 7) ) Endp ( 7 ) P (3 2)

19) Endpoint: (31, —3) midpoint: (—12, —Z) 20) Endpoint: (—6, —21), midpoint: (—E —E)
6 7 8 4 6 7 6
21) Endpoint: 33,—11, midpoint: —3%,§ 22) Endpoint: 21,—3, midpoint: —32, -3
5 2 37 4 4 6
23) Endpoint: (—l —12), midpoint: (l —2) 24) Endpoint: (i 81), midpoint: (12, 1)
2 6 6 8 2 3 7 2
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Answers to Assignment (ID: 1)

y [-2-42) 2 (14242 3 (_i, 02 9 1)
3 6 15 10 7 6
7 17 19 1
5) |4, —85) 6) (3,—3%) 7) ( 9— —1—) 8) (3,—35)
9) —71,73) 10) 102,9L) 11) (2— —4— ) 12) (—Z, —71)
3 6 21 10 8 3
13) !33,71) 14) {—1i,83) 15) ( 73 8— ) 16) (—i, —33)
g8 2 24 4 7 28 5
17) !11, —73) 18) !42, —7) 19) ( 6i —3—) 20) (31, —11)
2 7 21 7 2
21) —10E 3 11) 22) —9£, —51) 23) (3 ) 24) (12, —71)
15 14 12 4 6 12 1 3
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ID: 2
Name

Assignment Date Period

Given the midpoint and one endpoint of a line segment, find the other endpoint.

1) Endpoint: (i 2) midpoint: (31, —33) 2) Endpoint: (6, —1) midpoint: (—l 12)
2'7 4" 75 3 6 4
. 4 1 . 1 5 . S 1
3) Endpoint: |—, —1—], midpoint; [-1—, 4= 4) Endpoint: (1, 2), midpoint: [5—, —1
3 5 8 6 8
7 | 31 3 1
5) Endpoint: -1, ——|, midpoint: {——, 2— 6) Endpoint: |[-—, —], midpoint: |—, 2—
) Endp ( 4) P (6 8) ) Endp (26) P (2 8)
. . 3 . 15 . 1 .3
7) Endpoint: (0, 1), midpoint: (—2, —27) 8) Endpoint: (—1, ?) midpoint: (_Z 2;)
11 3 6 1 9 1
9) Endpoint: |-—, —2—|, midpoint: |- —, —— 10) Endpoint: [—, =2], midpoint: |—, 1
) Endp ( 7 5) P ( 7 3) ) Endp (8 ) P (5 )
11) Endpoint: (—l 1), midpoint: (42, 31) 12) Endpoint: (—21, 32), midpoint: (i i)
6 4’4 6" 6 4’ 4
13) Endpoint: —2,—2, midpoint: —1—03 14) Endpoint: E —22, midpoint: —3,—Z
3 4 7 4 7 6 4
15) Endpoint: 43, —3%, midpoint: —1,—g 16) Endpoint: 31, ll, midpoint: 22
5 3 3 5 8 4 2
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17) Endpoint: (23, 2), midpoint: (41, 11) 18) Endpoint: (i i) midpoint: (—l —i)
4 8 3 52 2 5

1 1 1 1 1 6
19) Endpoint: [-1—, 2|, midpoint: [—, 3— 20) Endpoint: {-2—, ——], midpoint: |——, 1
)p(4)p(33) )p(38)p(7)

. 2 — 11 . 1 N 1 9
21) Endpoint: (-3 —, 6|, midpoint: (-2—, — 22) Endpoint: {2—, -2, midpoint: [2—, ——
3 25 2 6 8

23) Endpoint: (41, —3) midpoint: (—31, E) 24) Endpoint: (—ll, —33), midpoint: (—1%, 1)
2 3 2 6 2 8 5

i
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Answers to Assignment (ID: 2)

1) 5,—81—7) 2) (—61,35) 3) ( 3L 1013) 4) (91, —4)
35 376 1215 4
2 1 1o 6 113
Y Y S R (T
9) (-, 1ﬂ) 10) (-2 4) 11) (93 5 ) 12) (3—, —21)
715 40 3 3
13) {—1i,23) 14) !—62,—%) 15) ( 622 1) 16) (—l, 11)
214 773 5 108
17 (51, 3) 1) (14 —3i) 19) (1£ ) 20) (E 21)
2'3 510 12 '8
21y (=14, —53) 22) 15,—1) 23) ( 11— 4= ) 24) (—11,53)
37 6 4 1078

i
</ gagsgs math-vserlsheet.ory
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Assignment

Name

ID: 3

Date Period

Given the midpoint and one endpoint of a line segment, find the other endpoint.

1 3 7
1) Endpoint: |-1—, 1—|, midpoint: |1, ——
) Endp ( 2 5) P ( 6)
4
3) Endpoint: (—22, —), midpoint: (Z —Z)
8 3 4 6
5 3 1
5) Endpoint: [—-—, 4], midpoint; [—, -3 —
) Endp ( 6 ) P (2 6)
7) Endpoint: (—l —32), midpoint: (—H 2%)
7 8 8 7
6 5 1
9) Endpoint: |——, ——], midpoint: [4—, O
) Endp ( 5 4) P ( 2 )
11) Endpoint: (—i, l) midpoint: (41, —21)
32 4 2

1 1 1
13) Endpoint: |—, ——]|, midpoint: [—, 2
 encporns 3, mcin: (G2}

15) Endpoint: (—% %) midpoint: (-1, -1)

2 gegsgs apatih-worhsheet.ory

2) Endpoint: (—31, —21), midpoint: (i 1)
8 8 46
4) Endpoint: (42, 32), midpoint: (l —li)
7 6 2 4
6) Endpoint: (21, —23), midpoint: (—2, —1)
8 4 3 6
8) Endpoint: (—i 0), midpoint: (22, Z)
5 3 4
. 5 . 5
10) Endpoint: (—8, —23), midpoint: (—1, lg)
12) Endpoint: (—6, —22), midpoint: (£ l)
4 73
6 1 12
14) Endpoint: [-—, ——], midpoint: [-—, 1
) Endp ( 5 6) P ( 7 )

16) Endpoint: (0, —8), midpoint: (—%—g)
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17) Endpoint: (0, —61), midpoint: (42 —1) 18) Endpoint: (O, —li), midpoint: (—12, —11)
3 7 4 4 4 3

19) Endpoint: (—1, —2%), midpoint: (4% 8) 20) Endpoint: (—2%, 1), midpoint: (—1, %)
. 7 .1 . 1 . I 1 . I 1
21) Endpoint: {2—, 2—|, midpoint: [0, —— 22) Endpoint: {——, 4—], midpoint: |-3—, 2—
8 4 2 8 6 3 4

23) Endpoint: (63, 32), midpoint: (—l 41) 24) Endpoint: (22 —4), midpoint: (1, —23)

77 4 5 7 8
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Answers to Assignment (I1D: 3)

1) 31, _3&) 2) (42,22) 3) (61, _32) 4) (—32, —71)
215 8' " 24 N 73
5) 33,—101) 6) (—51,21) 7) (—21—7,81) 8) (5331)
6 3 24' 712 28" 56 15'72
9) 101,11) 10) 6,61) 11) (101, —51) 12) (91,31)
5’4 2 6 2 7712
13) '—1,41) 14) '—2i,2l) 15) (—1, —2i) 16) (—l, 63)
6 4 3576 377 2'73
17) '9252) 18) !—31,—2) 19) (10, 181) 20) (3, 1)
776 212 8 8'3
1) (22, _31) 2) —63,1) 23) (— B i) 20) (—9 —3)
8 4 24'3 14’735 74
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ID: 4
Name

Assignment Date Period

Given the midpoint and one endpoint of a line segment, find the other endpoint.

1) Endpoint: (41, —1) midpoint: (—31, —i) 2) Endpoint: (13, —11), midpoint: (—31, 21)
6 2 33 7 8 2 3
1 1
3) Endpoint: —,Z, midpoint: —23,—0 4) Endpoint: —31,1 , midpoint: 31,4l
6 8 4 7 5 2 3
5) Endpoint; (41 —12), midpoint: (0, 0) 6) Endpoint: (11, 2), midpoint; (2 Z)
5 7 4 85
7) Endpoint: (32, 31), midpoint: (z 11) 8) Endpoint: (l 1), midpoint: (i —11)
5 6 4 6 4 4 3
9) Endpoint: (—ll, i) midpoint: (O, l) 10) Endpoint: (—61, 2) midpoint: (—2 —33)
33 5 35 3 5
11) Endpoint: (—l 2) midpoint: (—% 1) 12) Endpoint: (—% lé), midpoint: (—i 21)
23 32 36 22
13) Endpoint: 4%,—11, midpoint: 8,i 14) Endpoint: —3,—3, midpoint: —33,—l
3 3 8 28 5 3
15) Endpoint: (1, 31), midpoint: (—32, 1) 16) Endpoint: (E 2), midpoint: (—31, —E)
2 6 2 8 25
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17) Endpoint; (%—1%) midpoint; (4%—%) 18) Endpoint: (-2, 2), midpoint: (—3%,—1)

19) Endpoint: (E E) midpoint: (—2 4) 20) Endpoint: (l 21), midpoint: (—2,1—0)
7 8 7 3 5 7

21) Endpoint: (5, —g) midpoint: (—£ 42) 22) Endpoint: (—i 7), midpoint: (42, 2)
3 7 8 3 55

23) Endpoint: (i —11), midpoint: (O, 41) 24) Endpoint: (Si) midpoint: (—23, 1)
5 2 8 5 7 4
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Answers to Assignment (ID: 4)

1) (=102, —21) 2) (—83,52) 3) (—53, 12) 4) (101,73)
6 "6 7724 356 573
4 5 4 1 5 1 .2
o [+413) o o) Y Y T
9) 11,—ﬂ) 10) 3,—83) 11) (—3,—3) 12) (—2l 31)
315 5 6 3 376
13) !111,2L) 14) {—sl,—l) 15) (—83, —21) 16) (—81, —43)
3712 100 24 30 72 8 5
17) {81, 11) 18) !—43, —4) 19) (—4 63) 20) (—4l 2)
24" 4 4 8 3'35
21) —81,9£) 22y (102, —33) 23) (—i 111) 24) (—12é —i)
7712 15" 75 54 7" 10
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Assignment

Name

ID: 5

Date Period

Given the midpoint and one endpoint of a line segment, find the other endpoint.

1 1 8
1) Endpoint: [-1—, ——], midpoint: [—, 2
) Endp ( 4 6) P (5 )
4 51
3) Endpoint: |2, ——], midpoint: [1—, —
) Endp ( 3) P ( 3 4)
2 1 1
5) Endpoint: [-3—, =2, midpoint; |-1—, ——
) Endp ( 3 ) P ( 2 3)
) 1 1 . 1
7) Endpoint: (4—, 2—), midpoint: (4—, 4)
3 2 2
1 2 1
9) Endpoint: |-3—, 2—|, midpoint; |-—, 1
) Endp ( 2 3) P ( 4 )
11) Endpoint: (—22, —1) midpoint: (l —li)
8 3 6 5

13) Endpoint: (22, —31), midpoint: (21, —2)
6 2 2 3

15) Endpoint: (—22, 2) midpoint: (l —2)
8 7 3

2 gegsgs apatih-worhsheet.ory

2) Endpoint: (2, —21), midpoint: (—3%, 2)
8 7 6
1 3 4
4) Endpoint: |2—, ——|, midpoint: |-1, —
 expin 2,3, gt 1.
6) Endpoint: (—1, —2§), midpoint: (—31, —ﬂ)
5 7 6 7
51 8 2
8) Endpoint: [—, —|, midpoint: [—, —
) Endp (8 3) P (7 7)
10) Endpoint: (21, 3) midpoint: (Z 2)
27 8
12) Endpoint: (32, —11), midpoint: (—12, —13)
7 2 8 4

14) Endpoint: (1% %) midpoint; (-2, -2)

16) Endpoint: —21,—2, midpoint: 32,22
6 8 3 8
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17) Endpoint: (l i) midpoint: (3 11) 18) Endpoint: (2 11), midpoint: (5, —E)
6 4 5 3 5 8 8
19) Endpoint: (—32, —E) midpoint: (—E —1) 20) Endpoint: (3 0), midpoint: (1, 13)
5 7 7 2 4
21) Endpoint: 3 1%, midpoint: l—é 22) Endpoint: —22 midpoint: —1, -8
25 2 3 4 7 5

23) Endpoint: (—1,1), midpoint: (23, 22) 24) Endpoint: (% 41), midpoint: (—l i)
2 4 4 3 8 25
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Answers to Assignment (ID: 5)

1) 42,41) 2) (—8i3£) 3) (11, 13) 4) (—41,41)
20" 6 77 24 4" 6 2" 76
o (20 o [+24-2) y 12 (23]
33 15" 7 372 56’ 21
9) 3,—3) 10) —3,33) 11) (22, —31) 12) (—6i —2)
3 477 24" 715
13) {21,21) 14) {—51, —41) 15) (3i, —43) 16) (9l 71)
66 6 5 24" 7 2" '8
17) fli, 11) 18) !81, —51) 19) (2—1) 20) (l 31)
300 12 5778 35" 7 2' 72
21) -1, —42) 22) —2i,—173) 23) (61, 5) 24) (_12 —2£)
2" 15 200 7 2 3" 740
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Assignment

Name

ID: 6

Date Period

Given the midpoint and one endpoint of a line segment, find the other endpoint.

1) Endpoint: (-1, —1), midpoint: (1% 0)
. S 4
3) Endpoint: (2, 7), midpoint: (2§ O)
. . 11
5) Endpoint: (-7, —5), midpoint: (2?)
7) Endpoint: (H —2) midpoint: (21, 2i)
8 7 5 5
. 6 1 - 1
9) Endpoint: (1—, 4—), midpoint: (6—, 2)
7 4 6
11) Endpoint: (2 4i), midpoint: (—E 1)
7 5 7 6
13) Endpoint: |5 1 midpoint: —3l 1l
POIE {5 miapeInt 1725 g

15) Endpoint: (—32, —i) midpoint: (% —12)
5 5 3 6

2 gegsgs apatih-worhsheet.ory

2) Endpoint: (—% 4%) midpoint: (1, 0)
1 1 3
4) Endpoint: |-2, ——|, midpoint; [——, ——
 expin 2. ) mpin .
6) Endpoint: (2 —41), midpoint: (—Z, 31)
8 2 5 2
. 9 .1 . 1
8) Endpoint: (——, 2—), midpoint: (2—, 2)
7 2 4
10) Endpoint: (12, —2), midpoint: (i 32)
6 7 8
12) Endpoint: (—22, —i) midpoint: (42, —1)
6 2 5
14) Endpoint: (21 —11), midpoint: (Z —3i)
5 8 6 5
3

16) Endpoint: (ll, 21), midpoint: (—E ——)
4'76 7 4
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1 15 12
17) Endpoint: (—, 23), midpoint: (21, 41) 18) Endpoint: (—3%, —) midpoint: (——, —11)
4 5 6 2 3 8 7 8

19) Endpoint: (—2%, —21), midpoint: (2 21) 20) Endpoint: (ll, —6), midpoint: (32, 41)
3 2 7 2 2 6 2

21) Endpoint: 11,21, midpoint: —6,2 22) Endpoint: 32,22, midpoint: 31
26 8 3 4 5 6

23) Endpoint: (—21, —2i), midpoint: (Z 31) 24) Endpoint: (—12, —2) midpoint: (42, 21)
2 7 6 5 8 5 7 2

2 gegsus. path-worsheet.ory
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Answers to Assignment (I1D: 6)

1 (411 2 (31 42 3) (32, -7 4 (1,22
4 2 7 5 5
5) (11,82 6) (37, 111 7 3L, 63L g (5L 11
3 40" 2 40" 35 14" 2
1 41 1
9) (1022 -1 10) (-2, o1 11) (52,4 L 1) (12, -1
21" 4 42" 4 7 15 2
13) !—113,23 14) (7 10 15) (41 L 13 16) (421, 32
3715 15" 40 15" 715 28" 73
5
17) {4i, 62 18) !—, 4t 19) (42,71 20) (62, 15
12" 5 21" 8 21" "2 6
11 11
o1y (131, - 1L 29) (213 1L 23) (42,822 22y (112,62
2 12 15" 12 6 35 56" 5
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Assignment

Name

ID: 7

Date Period

Given the midpoint and one endpoint of a line segment, find the other endpoint.

1) Endpoint: (—% 3%) midpoint: (-2, 1)
1 1 2 1
3) Endpoint: |—, —2—|, midpoint: [—, —
) Endp (7 5) P (3 2)
. N 3
5) Endpoint: (0, —2), midpoint: (2Z 0)
7) Endpoint: (2 —22), midpoint: (Z 42)
5 7 5 3
9) Endpoint: (—g 21), midpoint: (—21, 22)
5 5 3 8

1 6 1 1
11) Endpoint: |—, —], midpoint: [—, ——
) Endp (2 7) P (6 5)

2 1 1
13) Endpoint: |-—, 0|, midpoint; |[-1—, ——
) Endp ( 3 ) P ( 3 2)

15) Endpoint: (2 —21), midpoint: (—E —3i)
3 2 2 5

2 gegsgs apatih-worhsheet.ory

8 5 5
2) Endpoint: =, ——|, midpoint: {3—, 2
) Endp (7 7) P ( 6 )
13 6 2
4) Endpoint: |—, —1|, midpoint: |—, —
) Endp (7 ) P (7 5)
6) Endpoint: (2,21), midpoint: (—1%, —21)
6 2 5 2
1 2 4
8) Endpoint: [-2, ——|, midpoint: [-3—, —
) Endp ( 3) P ( 3 3)
10) Endpoint: (§ —1) midpoint: (42, —32)
5 2 7 3
12) Endpoint: (O, —lz), midpoint: (—i 42)
4 3 7
1

14) Endpoint: (-1, —2), midpoint: (—2%,3§)

16) Endpoint: (—2, —22), midpoint: (z 12)
8 4’ 4
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17) Endpoint: (—ll, 2), midpoint: (41, —22) 18) Endpoint: (41, —1) midpoint: (—12, 3i)
2 2 5 8 4 5 7

19) Endpoint: (—12, —2), midpoint: (32, 11) 20) Endpoint: (—32, 2), midpoint: (23, —2)
8 4 32 8 7 3
21) Endpoint: 43,—2, midpoint: —ll,l 22) Endpoint: {0, —32, midpoint: —l,—é
g8 7 52 6 25
23) Endpoint: (l —21), midpoint: (li, li) 24) Endpoint: (2, 1) midpoint: (0, —Z)
6 8 5 4 4 4

2 gegsus. path-worsheet.ory
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1) (2=, -5 3)

5) 51 2)
o (421

15° 20
13) (-2, -1)

4

17)

\—/

Answers to Assignment (ID: 7)

2) (621,42
21" 7

o (52 )

300 2
10) [6==, -6=

19y (32, 83)

18) |-6-—, 7—

22) (-1, 12)

2 gegsus. path-worsheet.ory

3) (1i 31)
2175

13
7) (1 115)
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Assignment

Name

ID: 8

Date

Given the midpoint and one endpoint of a line segment, find the other endpoint.

4 2 2
1) Endpoint: |-3—, —], midpoint: [-2, ——
) Encp ( 5 3) P ( 3)
3) Endpoint: (ll,—l—o), midpoint: (22, 11)
6 7 5 4
5) Endpoint: (31,—11), midpoint: (—12,43)
4 2 5 3
7) Endpoint: (—ll, —31), midpoint: (—21, ll)
3 2 4 3
3 7.3
9) Endpoint: [-—, =2, midpoint: [-—, 3—
 expin 5. 3) i [
11) Endpoint: (Z E) midpoint: (31, ll)
47 8 6

1 1
13) Endpoint: (—, —31), midpoint: (—, 2)
2 2 2 6

15) Endpoint: (—l l) midpoint: (i —21)
2 4 5 8

2 gegsgs apatih-worhsheet.ory

11 1 5
2) Endpoint: [-1—, —|, midpoint: |1—, ——
) Endp ( 5 6) P ( 3 )

4) Endpoint: (32, —1—0) midpoint: (22, 41)
5 7 6 2

6) Endpoint: (23,32), midpoint: (—2%,42)
4 6 3 6
5 2 11

8) Endpoint: [-—, —], midpoint: [-1, ——

) Endp ( 3 5) P ( 7)

10) Endpoint: (2, —2), midpoint: (—% %)

12) Endpoint: (-2, 4), midpoint: (-1, 2)

14) Endpoint: (2 42), midpoint: (—22, —i)
4 5 6 7

16) Endpoint: (—£ 4E), midpoint: (22, —3i)
77 8 7

math-worksheet.org
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17) Endpoint: (2 i) midpoint: (—2, 2) 18) Endpoint: (1 21), midpoint: (—31, —1)
74 4 6 2 4

19) Endpoint: (O, 41), midpoint: (0, i) 20) Endpoint: (Z 1) midpoint: (i l)
8 3 6 6 52
21) Endpoint: 1,41, midpoint: l—l 22) Endpoint: —%,—1 , midpoint: —12, —3l
3 4 33 5 3 3
. 1 . 5 .1 . 15 . 5
23) Endpoint: (3—, 2), midpoint: (—2—, 2—) 24) Endpoint: (3—, —), midpoint: (—2,—)
4 7 2 43 3

2 gegsus. path-worsheet.ory
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Answers to Assignment (I1D: 8)

2 gegsus. path-worsheet.ory

1
1 (-1, 2) (312 22
5 15" 73
5) (6=, 10> 6) (81,52
2006 1276
5
9) -2, 91 10) [-s1,32
6 2 575
1
13) !—,5l 14) !611 512
276 12" 735
17) !—41,31 18) {—81, 4L
1474 30 2
1
21y [+, —4il 29) (212 52
3012 15" 73

3) (31_9,32)
30" 14
11

7 (—3g,6g)

11) (4l 1—9)
2" 21

15) (

19) (o —1—

8—3

23)
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Assignment

Name

ID: 9

Date Period

Given the midpoint and one endpoint of a line segment, find the other endpoint.

1) Endpoint: (—21, —21), midpoint: (2, —3%)
3 6 3
25 5
3) Endpoint: [-3—, —|, midpoint: (0, ——
) Encp ( 3 3) P ( 4)
11 53
5) Endpoint: [1—, —], midpoint: |—-—, —
) Encp ( 2 2) P ( 3 8)
7) Endpoint: (41, —12), midpoint: (2 —E)
2 5 3 6
. — 1 5
9) Endpoint: (5, 6), midpoint: (lg —lg)
11) Endpoint: (—32, ll), midpoint: (ll, i)
7 6 5 4

13) Endpoint: (l 1%), midpoint: (—2, 45)
6 5 6

15) Endpoint: (lé, 21), midpoint: (—1,2)
7 8 6

2 gegsgs apatih-worhsheet.ory

2) Endpoint: (43, —22), midpoint: (2 13)
4 8 3 4
15 2 3
4) Endpoint: |-1—, —|, midpoint: |—, —
 expin 115} mion: (.
6) Endpoint: (l —l) midpoint: (41, 12)
2 4 8 8
. [5 . 4
8) Endpoint: (g —1), midpoint: (—l,g)
10) Endpoint: (42, —1) midpoint: (—12, —31)
7 4 3 2
12) Endpoint: (45, 62), midpoint: (—12, —l)
6 4 6 2
. . 17
14) Endpoint: (-8, 1), midpoint: (—35, Z)

16) Endpoint: (—E 11), midpoint: (—21, —12)
4 2 4 7
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17) Endpoint: (% —22), midpoint: (32, 1) 18) Endpoint: (—§ l) midpoint: (12, l)
5 4 7 3 57 7 3

7 1 2 5 1 2
19) Endpoint: (-1, —|, midpoint: [—, —— 20) Endpoint: (-2, 1—|, midpoint: {—, —
) Encp ( 6) P (2 3) ) Endp ( 8) P (5 3)
21) Endpoint: |1, ll, midpoint: —%, 1i 22) Endpoint: —1,23, midpoint: 2,8
4 57 34 7
23) Endpoint: (2, —2) midpoint: (42, Z) 24) Endpoint: (—E —11), midpoint: (22, —11)
3 7 8 2 2 7 4

-
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1)
5)
9)
13)
17)

21)

Answers to Assignment (I1D: 9)

11 2 1

6—, —5— 2) [32,57 3) (32, -4—

3" 76 1278 36
51 3.1 1 .4

4=, 6) (72, 3= 7 [-1=, 22—
6 4 472 6 15
(I 13 3 9 1

2, -9— 10) [-7-2, -6 11) [6—,~
34 21 4 35'3

LI 14) {1,21 15) (32 12
6 15 2 7" 24

11

(155 g s 11 19 [, 2!
357 12 3521 2
DRl 22) (319,131 23) (6222
5" 28 21 7712

i
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ID: 10
Name

Assignment Date Period

Given the midpoint and one endpoint of a line segment, find the other endpoint.

1) Endpoint: (0, —6), midpoint: (l —IZ) 2) Endpoint: (1, —31), midpoint: (—3 —22)
3 8 4 5 4
7 2 2 3 7 4
3) Endpoint: |—, —], midpoint: [-3—, —— 4) Endpoint: |1, —|, midpoint: |-7, ——
)p(43)p(32) )p(6)p(3)
2 3 11 31
5) Endpoint: [-—, =3—|, midpoint: (2, 0 6) Endpoint: |2—, —|, midpoint: {3—, —
) Endp (78) point: (2, 0) ) Endp (66) p (82)
7) Endpoint: (3£, i) midpoint: (i i) 8) Endpoint: (ll, 32), midpoint: (31, l)
7 2 32 6 6 23
9) Endpoint: (—31, l) midpoint: (—21, —3) 10) Endpoint: (—31, 22), midpoint: (l —Z)
6 2 2 5 8 2 4
11) Endpoint: (—1%, —21), midpoint: (—1, i) 12) Endpoint: (—4£, 0), midpoint: (32, l)
5 2 55 5 33
3 1 5 4 1 5
13) Endpoint: [—, —1], midpoint: [——, —— 14) Endpoint: [3—, —|, midpoint: -3, 1 —
 expin (1) mipoin |5, 5) 20 o 1) maor: 5.1}
15) Endpoint: (22, E) midpoint: (—li, 22) 16) Endpoint: (ll, 32), midpoint: (—2 —21)
4 4 5 3 2 4 3 2
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17) Endpoint: (—12, 21), midpoint: (—i 41) 18) Endpoint: (—21, 32), midpoint: (—1, —2)
3 5 3 3 2 8 4

19) Endpoint: (2, —11), midpoint: (—33, 31) 20) Endpoint: (—Sl, —li), midpoint: (—2, l)
8 4 2 2 7 4
21) Endpoint: (l —E) midpoint: (—2, 2) 22) Endpoint: (2 l) midpoint: (—ll, —33)
4" 7 7 4’ 4 3" T4
4 9 3 51 I 8
23) Endpoint: (-6, —|, midpoint: [—, — 24) Endpoint: {——, —], midpoint: |-—, ——
) Endp (5) P (54) ) Endp (43) P (3 5)
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Answers to Assignment (ID: 10)

1) 3,21) 2) (—21, —21) 3) ( 9L —32) 4) (—15,—33)
3’74 5" 74 12' 73 6
o (2] o[+ () el
778 12° 6 21" 2 6 "6
9) [-12, —61) 10) (4, —51) 11) ( 124 1) 12) (123, 3)
6 2 578 5710 15'3
13) !—13, —21) 14) !—91,31) 15) ( 6 4 —) 16) (—43, —83)
4 73 576 20 6 4
17) !—1,61) 18) !l, —61) 19) ( ol g —) 20) (11,2i)
15 2 8 2 2 714
21) —41,41) 22) [-31L —73) 23) (93 l) 24) (l, —3i)
47 12" 4 510 12" 715

i
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